MATHEMATICAL CALCULATIONS

Adcd tion b

G| < =

means PLUS means KQUAL

16+23=39 Sixteen plus twenty three equals (is) thirty nine.
25+33=1358
41+12=53
15+19= 34
29+43=72
17+ 48= 65

30+59=289

Subst action

| J————

) 95-79= 16

54-19=35 Fifty four minus nineteen equals (is) thirty five.

36-16=20

68-42= 26
71-15=56

25-8= 17

43-13=30




X

means times.

7x3=21 Seven times three equals (is) twenty one.
6x9= 54

8x6=48

10x6= 60

24x4= 96

5x7=135

4x8=128

9x9= 81

24:6 =4 Twenty four divided by six equals (is) four.
18:3=6

60:4= 15

84:4=121

54:3=18

100:4: 25

36:3=12

88:8=11




1. 60-15= a)(.....) Twenty eight
2.52:4= b)(.....) Five

3. 9x7= c) (.....) Forty nine

4. 23+5= d) (.....) Seventy three
5. 7x7= e) (.....) Twenty two
6. 45+28= f) (.....) Sixty three

7.95-73= g) (.....) Forty five

8.75:15= h) (.....) Thirteen

Thirty six..................... fourteen equals fifty.
A hundred ........ccoceuvunen. twenty is five.

Eighty tWo ....c.cevcueeveeee...... twenty five is fifty seven.
Twelve ........................... eight equals ninety six. [
Seventy seven ....................... thirteen equals sixty four.

Fifty three .........cc.c......... six is forty seven.
Ten .......cceeeveneene. Nine equals ninety.
Forty SiX ....ccceceeeveveernneneen... two is twenty three.
Sixty four .......cccceceeeueuenee.... equals four sixteen.
. Ninety nine ............ccccucu........ is eighteen eighty one.
. Forty .covivivviiveenen.. gight is forty eight.
. Nineteen .........cccccceseneeuene.e. twenty equals thirty nine. %
. SiIXEY e, SEVENtEEN equals forty three.

. Fifteen .....cccvvverecevvennnnnn. five is three.
. Sixteen ........ccceceveeeueenenn.. Six equals ninety two.
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There are 7 roses, 9 tulips and 6 orchids in the
— | vase. How many flowers are there in the
vase?

There are 27 books on Sevilay’s bookshelf.She
gives 6 books to Dilay and 8 books to Deniz.

How many boks has she got now? D
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Mrs Yilmaz has got 30 TL. He buys two packets

of biscuits and a bottle of milk. A packet of
biscuit is 2 TL and a bottle of milk is 3 TL.
How much will he have after shopping?
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An egg is 50 Kurus. Ali has got 8 TL. How many Tiirkan has got 300 TL. She gives 1/3 of her

eggs can he buy?

money to Sevcan. How much money has she
now?

A notebook is 3 TL. Simge buys 6 notebooks.
How much does she pay?

s

N
On a farm,there are 8 cows and 10 sheep.How Ahmet gives 5 TL to his son Adnan and he puts
many legs have they got altogether? his money into his money box. How much

money will Adnan have after two weeks?

NS J
Fuat has got twelve marbles. His father buys In a stationary store, a rubber is 1 TL, a glue is
twenty marbles.How many marbles has he 2 TL. Mehmetcan buys three rubbers and
got now? two glues. How much money does he pay?
- N\
Melek has got nine dolls. Her mother gives Seyma has got forty-eight cookies. She gives
three dolls and her friends gives six dolls on ten cookies to her neighbour. How many
her birthday. How many toys has she got cookies has she got now?
now?
J

A kilo of nut is 24 TL. Yusuf buys ¥ kg.
How much does he pay?




